GTZ/GTDD Front Mount 448 mm  Instruction manual

ETRSEY A%




oL =1 = ] &

x 4 M8 x 25mm x 4 M8 x 20mm x 4 M8 x 30mm x 6 M8 x 14

Break the teeth from both sides of the bracket by
using screwdriver, put it below the tooth and lift it

up

EX'l‘I‘I.ISiﬁl'I ﬁl‘ld CNC ® copyright © all rights reserved (VERSION 2.02.01 Last updated2022 ) P

N



Exirusion and TNT ® copyright© all right

s reserved (VERSION 2.02.01 Last updated2022 )




j @&

M8 x25mmx4 ME&x20mmx4 M8E8x30mmx6 M8 x 14

Break the teeth from both sides of the bracket by
using screwdriver, put it below the tooth and lift it

up

Exllkl-USiﬁl-l ﬁl‘ld CNC ® copyright © all rights reserved (VERSION 2.02.01 Last updated2022 )




Exllkl-USiﬁl-l ﬁl‘ld CNC © copyright © all rights reserved (VERSION 2.02.01 Last updated:2022 )



i & ©

114.5mm x 2 M8x20mmx8 M8 x30mmx 6 M8x 6 M8 x 12

DD PUDIUM MUOLUNT 44n mim Instruction manual

Exllkl-USiﬁl-l ﬁl‘ld CNC o copyright © all rights reserved (VERSION 2.02.01 Last updated:2022 )




[EXTRIREN AR
OANIOAITO

O~ 1O VO

If you still have some questions regarding assembly of this product or about the manual itself,
please refer to our support department. They can be reached at

support(@extrusionandcnc.com

whatsapp: +971506580398

Exllkl-USiﬁl-l ﬁl‘ld CNC o copyright © all rights reserved (VERSION 2.02.01 Last updated:2022 )



	001
	002
	003
	004
	005
	006
	007

